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11 SIS0t oA A A 54,200 56,968 N2, 768
OgtE S a3y AL2e2E
54,200, 0002 54,200
401 AIEBI L2 TH] 80,000 203,000 A123,000
01 Al&H| 80,000 203,000 123,000
OIS FHYBE +BAIE HUIBM
80,000,000 80,000
SIS S0t ESHOEAEL 2E 18,000 0 18,000
401 AIEHIZ R 0HYI 18,000 18,000
01 Al&H| 18,000 18,000
OE20IEAER| A& BLBAF
18,000,000 18,000
AROEAELE 29 17,700 17,700
401 AlEHIZ S 0HYI 17,700 17,700
01 Al&H| 17,700 17,700
ART AERS YABA
17,700,000 17,700
SLEEAEE R - 2L 58,211 73,811 15,600
201 =3 8,211 8,811 A600
01 At22t2l] 531 1,131 2600
OZNeAtg e =A7Y
300,000 300
OLEEZ Sdx 86,4003 33|~ 123 231
02 S3=gHl 7,680 7,680 0
OZZLESEANEE MAMSU=
300,000& * 128 3,600
OZZEZAEE ANEEHI=AH
1,000,000 #32] 3,000
ORQTHINAH(ZEE) SHY|
90,0003 x 122 1,080
401 AIEHIX 20HH 50,000 65,000 15,000
01 A28l 50,000 65,000 215,000
OZZLEEAIZE =AIEHIY|
50,000,000 50,000
SS2EIIBAIE =4 & 22 K& 100,900 110,900 10,000
401 AIEHIYL S HY 100,900 110,900 10,000
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2A:

o

=otad
3 2t J|Et =E & 2el
el EstaFl|gAlE 9 2 2 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 Al&HI 100,000 110,000 10,000
OZ0|A&EF 2L FH 2 =4
SA 50,000,000& 50,000
083 - EFAY 2FIIBAIE FHl & =4
SAt 50,000,000 50,000
03 A& S CHYI 900 900 0
OZ&I|EAIE EHl K =& SA
100,000,000 0. %% 900
SatAg 2 S30tE Zd A 60,000 90,000 230,000
206 MH=Hl 10,000 10,000 0
01 MZH| 10,000 10,000 0
OSatitEs =AEHl 2e M=+l
10,000, 0002 10,000
401 AlSHI L 2] 50,000 50,000
01 Al&H| 50,000 50,000
OBZHEIAL U 55 S RN X4 U
A& 50,000,000 50,000
oS0ldE 29 55,000 55,000
401 Al HIZL 201 55,000 55,000
01 Al&H| 55,000 55,000
OUS0IdE AlE E53At
55,000,000& 55,000
SFEAY FA 280,792 2,434,271 N2,153,479
Al 5,000
T 275,792
S AHIA JMA OHS 174,636 168,794 5,842
Al 5,000
- 169,636
g;’é@LHﬂlﬁl?—f—(:’.ﬂ%QLH/ﬂHIﬁ M) (M) (M A 10,000 10,000 0
Al 5,000
- 5,000
201 fer= 3| 10,000 10,000 0
Al 5,000
- 5,000
01 At22t2l] 10,000 10,000 0
OZg2Z XN T M 10,000,000 10,000
Al 5,000
T 5,000
2 EEE & EES M- e 50,360 50,360 0
201 Ler23| 50,360 50,360
01 AtR2telHl 49,660 49,660
Odgt+==H| 49,660
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A skt
m: DBIEAY XX
ST BZAHIA A OHA (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—2ZE2HHI] - 24
60,0002 *20071 12 12,000
—ALEEE HNH 5,000,000 42 20,000
—HIOIE 2Z0ot= M
3,00021+3,000 9,000
—RREE ALY(ZS) X
1,000& 8, 000H 8,000
—A0IE 2t& dXHE RA2s
55,0002 122 660
® 222 700 700 0
OB2R2 2 HAl 700
—pREEE SHYsR
10,000& *702] 700
ANZSHEA 2 2el 104,700 92,300 12,400
201 et23| 16,400 9,400 7,000
03 A= SHI 16,400 9,400 7,000
OG A2l At B 1S
16,400,000 16,400
301 EtE NS 85,800 80,900 4,900
ITETCTREE 2,000 1,900 100
OS4RS0| T2 Al L 245Hy)
2,000,000 2,000
14 IIEt2 83 83,800 79,000 4,800
OSAtZatoi €Al 8| 83,800,000& 83,800
307 el2to| & 2,500 2,000 500
06 28= 2,500 2,000 500
Odoli=2d" It 100,000 25 2,500
EEHRLIENWE 29 7,576 1,134 A3,558
201 et 3| 7,576 1,134 A3,558
01 At22t2l] 2,256 2,25 0
OAHRUEIME S| 160, 00024 122 1,800
ORLIEIME F4I| 24X
38,000& ~12& 4%
02 S3=gl 5,320 8,878 A3,558
OAIZZEHl | 4,000
—ANEE =AIZHIHI 4,000,000 4,000
ORQUBHIAIAE S|
110,000& »12& 1,320
IILAIRE 2,000 5,000 A3,000
201 er2 3| 2,000 5,000 A3,000
2 s5=34l 2,000 5,000 A3,000
OJ12A3 RXE44| 2,000,000 2,000
=UHel 2&2H =X 77,000 62,600 14,400
=l E22s L3t 57,000 42,600 14,400
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A skt
S ALY FA
el =Uel 2328 =X (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 12,000 17,600 25,600
01 At2teltl 1,000 0 1,000
OMICE =X 2lel=2gH| 1,000,000& 1,000
02 S3=gl 1,000 7,600 26,600
OSA0l= 2FetLA 2|
1,000, 0002 1,000
03 A2 Y| 10,000 10,000 0
Ostatsl &0 U 2
10,000,000 * 12l 10,000
307 elztol & 25,000 25,000
05 21t S 25,000 25,000
OSHOl= 2OYL 2Y
25,000,000& 25,000
401 Al HIZ S OHbI 20,000 20,000
01 AlZ2H| 20,000 20,000
OSS=HEAl 204 CIHe! & AAl
2AHES 20,000,000& 20,000
LM XSS5t 20,000 20,000 0
301 EtE NS 20,000 20,000
14 IIEt2 8= 20,000 20,000
O2AZIHEIEN 2 20,000,000 20,000
H0[2AFSF JEAE =8 29,156 2,202,877 N2,173,721
2S5 JEAL 2,375 950 1,425
203 HR=AY] 2,375 950 1,425
03 A= PR FA| 2,375 950 1,425
ozgds gF =4 2,500, 0002 *05% 2,375
ARHYINSH 2Z B4 ALY 1,781 1,927 A146
308 AFAIEHMSOIE 1,781 1,927 A146
11 SI[2S0 e EAS A 1,781 1,927 A146
OAREL N SO 22l 1,781,000& 1,781
SES S30tS 243 A 25,000 0 25,000
401 Al HIZL 01| 25,000 25,000
01 Al&H| 25,000 25,000
OsEs S30l= HEs2 dA 2
9 25,000,000& 25,000
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